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1 |A [dy6uax Haranis BacuniBaa 96 93 | 94 93 | 90 | 91 | 92 92,83
2 I |Boceuko Jliana Bacunisua 97 93 | 92 93 [ 93 | 93 | 92 92,58
3 | |/Troxnsu Anina BonoaumupisHa 95 92 | 92 90 | 93 | 91 | 90 91,67
4 A [Kosrynuk Pokconana IBaniBHa 92 93 | 90 91 | 93 | 93 | 90 91,58
5 |I |Kunpka Xpuctuna Onerisaa 90 90 | 90 98 | 82 | 91 | 90 90,08
6 | [Camymax Anina MupocnasiBua 95 90 | 81 91 | 61 | 92 | 93 85,08
7 |1 |Bunnuk Anxa BacuniBua 76 80 | 80 731 81| 78 | 83 79,58
8 | |bpaik Tersina MuxaiiniBHa 84 76 | 80 76 | 91 | 72 | 82 78,75
9 |A [Himuyk Coois FOpiiBua 70 70 | 70 74 | 91 | 74 | 86 73,75
10 |4 [Kamroxuuit Onexcanap €BreHoBUY 51 52 | 52 50 | 59 | 64 | 78 55,58
11 | |Tansc Hasapiii Iroposuy 50 50 | 52 50 | 48 | 60 | 60 52,17
12 |A |Tenesan Jmutpo Bomoaumuposuy 50 50 | 50 48 | 52 | 50 | 50 50,00




